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2ALEE 131,091,000 x3.545% 4,648
-HIIQYEH 4,648,000& %12.27% 571
-IESE 131,091,000 *1.75% 2,295
M HEE 131,091,000 *0.982% 1,288




2A:

SAIZ22HH 2t

M RS A
chelr ASA JIBAA &5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oL, +222|, 2N 1L
&I1) 130,256
-Jl2s 78,8802 x0EH 126 88,740
=5xg 78,8803 »9& x262 18,458
—HEASEMSE 120,520 9 +5F 5,424
-wSEAH| 50,0003 x0H 5 2,250
—2HA| 2,0003 %9 1265 2,250
-=2d=s 117,122,000 +4. 5% 5,271
A2 117,122,000 +3.545% 4,182
-AIRYEE 4,152,000&*12.27% 510
-1ELE 117,122,000& *1.75% 2,050
—SEE 117,122,0002 %0.982% 1,151
201 fer=3| 50,834 44,558 6,276
01 AtR2t2|HI 9,264 12,264 23,000
Odste =] AES(LAES 163081K1)
3,500,000 * 104 2 3,500
Odst=Es2dHIE SENsSF 7
1,470 3 »2000H* 122 *50% 1,764
O&sIEZ3J0/8 EMHE & &9 Xl
A4 100,000 407K A #22] *50% 4,000
02 s3=gHl 41,570 32,294 9,276
OZ332= & HMAl 22,210
-EEZE HMII(H~LE S)
1,100,000& «12& 13,200
-MEEDR SERF(MHHR S)
450,000 12& 5,400
-8t F =& UASHOUAIAE 2IH
AR 150,810« 12& 1,810
-Had 2382 =k 2 8Ies
150,000& « 12 1,800
OAIZ &l |XId| 16,250
-=S& 2l JIAHS S SEHELl =l
150,000 *5CH*32] 2,250
etz SZLUR Hel(=XE 81X, &
et=2, JIEL BANE &)
7,000,000 <22} 14,000
OgaH| 2,610
JIHE & Ztbots |F4
1,7403 1502 EA x 102 2,610
OgXstis SHNESHL WIRES
100,000 %52 500
202 04l 1,200 1,800 2600
01 2LHoIH 1,200 1,800 2600
Ofst: A2 =& ZU0H|
200, 0002 +4 & x32| x50fk 1,200
206 MH=H| 20,500 16,000 4,500




2A:

SAIZ22HH 2t

LR NB I,
chelr ASA JIBAA &5 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 MHZH| 20,500 16,000 4,500
oWt 24 S W2 PY
30,000 50K *22] *50% 1,500
042 Holi3 2 o P
20,0003 *50JH*32/ *50% 1,500
O88 S =704 800 *30, 0007 *50% 12,000
O, 50, B2 S HACT 7
5,000 x700& %28 *50% 3,500
O%2 AlHIB 2IIZ HIZ 2
20,0003 1007 <22 *50% 2,000
401 AIEHIZ SR THYI 200,000 300,000 100,000
01 Al&HI 200,000 300,000 100,000
O3% S| AL (BAANE EXI, BHA
o, £2DA, HHSYH S)
400,000,000 »14!%50% 200,000
405 AHaHE = 2,750 3,200 A450
01 AL =S F=HI 2,750 3,200 A450
O&tIl, JIHE s 7Y 2,750
-&CIZ| <04 800, 0002 *2IH*50f% 800
—-0l=2| 0OH 350,000 *3H 1,050
-JIHIS 0K 900,000 *1H 900
CHASEZE M 100,000 500,000 A400,000
401 Al HIZL 01| 100,000 500,000 A400,000
01 Al&H| 100,000 500,000 400,000
OZAZE Z2HE(4RE)
100,000,000 14 100,000
HTHAA JIBAIEEI 35,000 130,000 £85,000
401 Al HIZ S OHbI 35,000 130,000 /95,000
01 A28l 35,000 130,000 /95,000
OET4AY 3 S FUSBALE SS=2
= 50,000,000 141 %50% 25,000
OR)ESANE 32 (=3 Ad2 =X
2tel) 20,000,000 * 141 %50% 10,000
=y MHE WA= 1,550,000 0 1,550,000
= 1,000,000
Al 560,000
HWEBIETAISXIE (M A - 23S X7 THH) 1,100,000 0 1,100,000
[ 1,000,000
Al 100,000
401 AIEHIZ SR THYI 1,100,000 0 1,100,000
[ 1,000,000
Al 100,000
01 Al&H| 1,100,000 0 1,100,000
OMEHIST AL (Met. 23 K7 T
) 1,100,000,000& x14] 1,100,000




SH: SAI2SHD
Hu: AT AN

el =l THHE A= (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,000,000
Al 100,000
CAEFAHSEEEDD 2 HE =8 450,000 0 450,000
401 AlZHIZ S 0HbI 450,000 0 450,000
01 Al&H| 450,000 0 450,000
OZANLEIHSAFHIILIE Elgs 2E
14 450,000,000 * 14 450,000
HY2AZHI(Z A2 ) 85,222 87,232 A2,010
Jl=3hl 85,222 87,232 22,010
JI2ZHI(S A2 ) 85,222 87,232 22,010
201 er23| 41,542 43,192 21,650
01 At2teltl 36,754 38,404 1,650
OJIZA=E =] 100,000 * 17 1,700
OZAD| 22 ¥ EHTY(Zet, E9)
500,000 «1CH* 122 6,000
O=AEX 2 23,0002 %208} A+ 122 5,520
O=ADI RXIZRI(48 2 SE7Y)
500,000 *1CH*43] 2,000
OzZgf |XzZ2e(EHTY 8)
237,000 *3CH*43] 2,844
OMNRA 2012| BA+4E
160,000« 12& 1,920
OJlE 2SSl 160,000 *12] 150
Od.2 3| gxt=z 25,0003+ 122 300
@r=] 8,000 x17&*102* 122 16,320
02 s3=gHl 4,788 4,788 0
OZ332= & HMAl 4,788
-RERS 4,164
2pted 4003 +5003| 12 2,400
- S)eE 2,1003+503| x 122 1,260
S|lsugtss 2,1003+203| x 122 504
-elIgsl 012 30,0002« 12& 360
-RUgs 0188 22,0003~ 122 264
202 04t 40,800 40,800
01 =LHOHI 40,800 40,800
OFAI22Hl 0t 2l FRF8 20|
20,0003 17 #1002/~ 122 40,800
203 =4l 2,880 3,240 A360

R
I
x
HO[ 4w
02
12

S8 2,880 3,240 A360
ni; 300, 000& » 122 »80% 2,880

O
Al
=
Mo
for
=




